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FHZEREN 101 50 50 268 469
FHEREN 4 40 48 252 381

R4 FREWE 41% 80% 96Y% 94% 81%
ERZBREH 36 38 47 201 322
EREREH 31 38 47 191 307

EREHRE 86% 100% 100% 95% 95%
FHZEREY 82 48 35 319 484
FHEREN 25 41 26 289 381

RS FREWE 30% 85% 14% 91% 19%
ERZEBREH 24 41 32 251 348
ERAKEHR 24 41 31 238 334

EREHRE 100% 100% 97% 95% 96%
FHZEREY 80 317 80 305 502
FHEREN 21 29 13 270 399

R6 FREWE 34% 18% 91% 89% 19%
ERZEBREH 24 26 11 239 366
EREHREH 22 26 11 215 340

ERAEE 92% 100% 100% 90% 93%
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FHZBREHN 19 75 13 207
FHEKREN 18 55 52 125

R4 FRERE 95% 73% 46% 60%
ERZBREHN 18 54 46 69 187
EREREHN 16 35 25 53 129

EREKE 89% 65% 54% 17% 69%
FHIZEBREHN 20 80 88 188
FHEKREHN 17 56 50 123

RS FREKE 85% 70% 57% 65%
ERZBREHN 17 55 41 60 173
EREREHN 15 34 26 42 17

EREKE 88% 62% 63% 70% 68%
FHZBREHN 31 84 99 214
FHEREH 15 38 51 104

RS FRERE 48% 45% 52% 49%
ERZBREN 15 38 33 50 136
EREREN 14 29 30 39 112

EREKE 93% 76% 91% 78% 82%
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